| dE/dx estimator 1 | | dE/dx estimator 2 |

- - - - - - Entries 1334 C - - - - - - Entries 1334
t : : : : : ¢ [ Mean 2.406 ST : : : : : [ Mean 2.414
Std Dev 1.917 N : : : : : :

----- i 03

0.3

B Entries 1348 N Entries 1348
C : Mean 2.413 o : : : : . | Mean 2.42
0.25H-5-eeeriemmendeeebees feeoe-i--o| Std Dev 1911 .25 -+wmmmineesedneesessieee s toneee 1o Std Dev 1.957
o Entries 1347 L Entries 1347

Mean 2.42

...............................................

0.2

..... i i Mean 2.413 0.2

C Std Dev 1.912 - Std Dev 1.958
B L L L i | Entries 1348 I R R T R Entries 1348
0.15¢ . | Mean 2.413 0.15¢ Mean 2.42
r . . . . . . Std Dev 1.911 N Std Dev 1.957

0.1

o
=

Entries 1346 Entries 1346
Mean 2.412 Mean 2.419
Std Dev 1.913 Std Dev 1.958

o I e Y SR N R

Ratio
=
)

i —
o '
h‘l

. M

|

— 3

A rl

2]
Ratio
=
_I_I_I_H_I_I_I_l

0.95 0.95

o
—E

7 8 9 10 7 8 9 10
dE/dx, harm?2 dE/dx, trunc40

M_MRET_TT _Tetraim

M”mkFit_TT_NEWdefault_specPLess1
M_mKEFit EWdefault_specPLess2
M”mKEit EWdefault_specPLess3
M~mKkFit EWdefault“specPLess4

e S IO

o

—E
NE
NE
U1k
OOE

3 . N N T T CTiaeS 1334
Mean 1.974 0.9k feenenans Bereeenns Foeennns Fraveanes :-| Mean 0.1124
Std Dev 2.655 : : : : i | std Dev 0.3705

............................................

o
w
e e =

Entries 1348 0.8 -------- -------- -------- -------- Entries 1348
: : : : ' [ Mean 1.974 : : : : ' [ Mean 0.112

0.25f e AR AR A *°|_Std Dev 2.644 0.7 A A A S o121 0.3695
: : : : . | Entries 1347 0.6 P P P . +-| Entries 1347
0.2 freeeenns froeeeee Beeeeee Beeeeees i-| Mean 1.975 : : : : i | Mean 0.1121
. . . Std Dev 2.645 0 5 Std Dev 0.3697

Entries 1348
Mean 1.974 04
Std Dev 2.644

TP T

Entries 1348
Mean 0.112
Std Dev 0.3695

0.15

0.1

Entries 1346
Mean 0.1122
Std Dev 0.3698

Entries 1346
Mean 1.973
Std Dev 2.646 0.2

0.05

i _|"I"I"I"['I'|'1'1"|"I"I"I"r'l'|'1'1"I'

Ratio
H
=
Rati
L

0955710 20 30 40 50 60 70 80 09501620 30 40 50 60 70 80

dE/dx number of measurements dE/dx number of measurements with saturation




	Contents
	Page 1


